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The limit cycle phenomenon
The mechanical clock
Towers one dimensional maps
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Mathematicians and biologists dismissed the previous

LV models since realistic models should predict
a single closed orbit or perhaps finitely many
at not a Continuous farm of periodic notions
est cose or an attractor and Case
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the phenomenology of the mechanical clock It

differs from conservative centers harmonic oscillator

pendulum since



there is dissipation
there is a unique periodic motion of fixed amplitude

A correct model for a mechanical clock has

a unique closed trajectory
and the other

trajectories approach this one asymptotically
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DEI A limit cycle is an isolated closed trajectory
Isolated means that neighboring trajectories are

not closed they spiral either toward or away
from the limit cycle
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Model of the mechanical clock
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